How does a telescope work?       
Name: ………………………………………..

[image: image1.bmp]1. Complete the diagram in Figure 1 to show the effect of a convex lens on a parallel beam of light.


2. Which is the more powerful lens (a) or (b)? …………..
3. Calculate the powers of the following two lenses:

(a) focal length 2 m 

…………………………………………………

(b) focal length 10 cm

…………………………………………………

4. Complete the diagram shown in Figure 3 to show the formation of an image of object OO’ formed by the lens.


5. Which of the two diagrams in Figure 4 more closely shows the light from a star reaching a telescope lens?

………………………………………………


6. Which is the more powerful a simple telescope eyepiece lens or a simple telescope objective lens?

………………………………………………………………….
7. The diagram in Figure 5 shows a simple astronomical telescope with the lenses omitted! Which of the lenses shown would go in positions 1 and 2 to complete the telescope?


8. A telescope is made with an eyepiece lens of focal length 5 cm and an objective lens of focal length 100 cm. What is the magnification of the telescope?

………………………………………………………………….……………….

9. Most large astronomical telescopes do not use convex lenses but use a mirror as the objective. What type of mirror is used?

………………………………………………………………….……………….

10. Complete the diagram in Figure 6 to show how the mirror brings a beam of parallel light to a focus at F.
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